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Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER-I/II ‘EXAMINATION-SUMMER - 2017

Subject Code: 3316302

Subject Name: Applied Mathematics

Time: 02:30 AM TO 05:00 PM

Instructions:

Attempt ALL questions.

el

allowed)
English version is authentic.

i

Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not

Date: 05 -06 -2017

Total Marks: 70

Q.1 Fill in the blanks using appropriate choice from the given options.

1 value ofloga% =

a.0 b. 1
1 loggsoll Bud =

W0 o1

2 logpya X loggb =

a. logab b. logl
2 logpa xlog,b =

W. logab ol logl
3 logsl=___

a. 1 b. 0
3 logysl=__

.1 .0

4 A= [; _24] then AT =

a [} 3 b. [2

3
¥ ﬂA:[; _24]é1a_<-ﬂAT -

¢ -1 d.2

5. -1 S.2

c 1 d. log (%)

s (2

c. 15 d. Not defined

5. 15 S. vl Rld

o5 4 a5 T
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wlp ol oels T el A <G

5 The conjugate of 7-2iis

a. -742i b. 7+2i c. -7-2i d. 7-2i
U 7-2i ol oflg SR Aval -
. 742 Ol 7+2i §.-7-2i 5. 7-2i

6 IfZ=-3+4ithen |Z|=

a.-25 b. 5 c.25 d. -5

s ol Z=-3+4i &l dl |Z]=

. -25 .5 §.25 S.-5

vi . EAY
Period of sm(2) is
aTm b.2m c.3n dd4n

8 sin(Z) of vtatdluet =

W O. 2r % 3n S. 4n
8 Sin120°=
2 -3 V3 d V3
a.\/§ b > C. >
¢ Sin120°=
2 -V3 V3
W, = —v3 v3 S.4/3
= oL = 5.5 V3

9  Sin40Y + sin20° =

a. cos109 b. — cos10° ¢c. cos 200 d. - cos20°

¢ sin40° + sin20° =

. cos10° ol. — cos10° 8. cos 20° S. - cos20°
10 135%= radian

a. % b. 2= o2 a. =
W 1359=__ 33l
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11

11

12

E -

13

13

14

¥

Q2 (a)

T o, 5.
4 4 4
sm(g + 9) =
a. - cosf b. cosf ¢. sinf
sin(g + 9) =
W. . -cosl Ol cos@ 5. sinf@
T . 3w . 5m
cos;sm?smT =
a.0 b. 2 c. 1
T . 3w . 5w
€os Ssin—sin—=
W0 .2 51

d. - sinf

S..-sinf

A
vt | w

w1 .0 5. -1

Hx=i+j—kandy=2i—k+jthenx.y

a.0 b. 1 c.2

ANx=i+j—kWl y=2i—k+j A &y=__

U. 0 ol 1 5.2

Attempt any two SL8URL &l ol orellod UL
Prove that: log,,800 = 2 4+ 3log,42
At 52 3 : 10g,800 = 2 + 3l0gy42
Solve the following log,(logs(2x + 1)) = 1
G3cll : logz(log3(2x + 1)) =1

l

5
Expand (x — x) using Binomial Theorem
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Q.3

3.

(b)

(a)

(b)

5
oAU YA ol Gualol 53 (x—3) of @relrel 5A
Attempt any two SLSUGL 6l ol aellol UL 08
2 3 41 T oT
IfA[l = zuaclB_[2 _3] then prove that (A+B)T = AT + B
2 3 2 3 T AT ot
°&1A=[1 0] m&rs:[l | @ A u@d sA3 (A+B)T=AT+B

Solve the equation using matrix method 2x-3y = -5 and 3x+y =9

Adla ug@ ol wllszel Al B3t Al : 2x-3y = -5 Wl Ix+y =9

Solve using log table :  (53.83)% x (87.23)2

G3cll : (53.83)7 x (87.23)2

Attempt any two SLSUGL 6l ol acllod AL 06
Prove that: tan25° + tan20° + tan20°. tan25% = 1

At 52 3 : tan25° + tan20° + tan20°. tan25° = 1

For triangle ABC a=4.b=35,c=7find Area of triangle ABC

Blslel ABC , a=4 b=5,c=7 W2 Aslal o Aasa Al

sinA+Sin2A
Prove thatt —————— = tanA
1+cosA+cos2A

Al 53  SnArsin2A oA

* 14+cosA+cos2A

Attempt any two SLSUGL 6l il acllod UL 08

cosf+cos3f+cossh .
sinf+sin3@+sin58

cot3l

Prove that -

cosf+cos3f+coss8 .
sin@+sin30+sin58

Al s - cot3@

sin(m+4) tan( % +8)  cos(2m+d)

sin(2r-6) = cot{m—6) sin(§+ 8 3

Prove that .

sin(m+4) tan(% +8)  cos(2m+8)

UM 53 : sin(2r-6) cot(m—6) sin(§+9) o

fa-—f= g then prove that 2sina — cosff = V3 sinf8

o a—f= %Qa dl Al 53 ¥ 2sina — cosf = V3 sinf
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Q4 (@  Attempt any two SIEUGL & oll wcllod B

L.

(b)

QS5 (a)

Find the square root of z = -2 + 2v3

z=-2 + 2v3 o colya lul

(1-i)?
3+i

if

_z
341

=x +iythenfindx -y

+iy sl x-y

For what value of p, vector 2i+3j-k and pi — j +3k are perpendicular to each

other?

p oll 58 Bucd 12 AR 2i+3j-k U pi—j+3k As ol A ol sl 2

Atternpt any two SISURL 6L o1l aellel LUl

{cos118+isin118)°(cosf—isinth3

Prove that :

" {cos26+isin28)11(cos36 +isin36)1

P GERE

Prove that the angle between two vectors i+2j and i + j + 3k is sin™? ( —)

{cos118 +isin119)?(cosB—ising)?

{cos28+isin28)1 1 (cos38+isin38)1

cos6l — isin60

= cos6l — isinel

46
55

A 5 5 A€l i+2j 3 i+j+3k <22 ol YRl sin~? (J%) 8.

The constant forces (1 ,-1,1),(1,1,-3)and (4,5 ,-6) act on a particle under
the action of constant forces , particle moves from point (3 , -2,1 ) to the point
(1,3, -4) then find the total work done

AUAR ool (1,-1,1),(1,1,-3) Aol (4,5, -6) 58 UR cldl B Bofl AR

gsm s@L (olg 3,-2,1) &l (1,3,-4) WA D d e2let U sl 2l

Atternpt any two SISUEL 6L o1l acllel LUl

Solve forn,

{(n-1P3)/ (uPa) = %

G5cl (n-1P3) / (nP4) =%

Find the probability of getting 4 heads in 6 tosses of fair coin .using Binomial

distribution

http://www.gujaratstudy.com

5/6
http://www.gujaratstudy.com

06

08

06



http://www.gujaratstudy.com

2. s AU Rsst ol 6 alr Gololcl €35 duld 4 U HA de{l dewasl
Binomial distribution &l 2l
3. Using Poission distribution , find the probability that the ace of spades will be
drawn from a pack of well shuffled cards atleast once in 104 consecutive trials.
3. WA {ld AUl urtt Higl A 10¥ R WAEL Uil Wi 2leotHl Ag
As R sio{l ol Assl {lsit Asll 2Uetlaisll Poission distribution oll GualoL
531 el
(B)  Attempt any two SlEURL & o1l %cilol UL
1. Find the probability of throwing (a) 5 and (b) an even number with an ordinary
six faced die
1. A5 UAUAA 6 UL ol BBLAAL (a) 5 Bal (b) Yo vl 1A defl Aewastl
alltdl.
2. Find the Karl Pearson’s coefficient of correlation for the following data
X 1 2 3 4 5
y 2 5 3 8 7
2. U HlEl *u2 Karl Pearson’s &oltt 2Jelis Ancl
X 1 2 3 4 5
y 2 5 3 8 7

08

3. A student takes his examination in four subjects a,b,c,d. He estimates his chances
ofpassinginaasg,bas% ,incas%andindas% . To qualify , he must passin a
and atleast two other subjects. What is the probability that he qualifies?

3. s [Qadl 4 @Qual a b ¢ ,d 1l U3lall AU &, L [Anal 1l W gl
M oll dotl BELDA a i T,b Ml % ,cHl %m&‘tdul § sl 8. Gl
gl HI2 dal a vol oflost el el 2 [Quall 3w ag ud. dl el

Gcllel aaell deudst 32l udl 2

SR SRR SR R R RO R R R R R ROk
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